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True Value or Actual size: 100.453
Measured Value or Reading: 100.450

Error = 100.450 — 100.453 = —0.003

E=V -V
m t
vhere E is the error, Vm the measured value, and Vt the true value.

The value of E is also known as the absolute error. For example, when the weight being
neasured is of the order of 1kg, an error of +2 g can be neglected, but the same error of +2 ¢
»ecomes very significant while measuring a weight of 10g. Thus, it can be mentioned here
hat for the same value of error, its distribution becomes significant when the quantity being
neasured is small. Hence, % error is sometimes known as relative error. Relative error is
>xpressed as the ratio of the error to the true value of the quantity to be measured. Accuracy of
in instrument can also be expressed as % error. If an instrument measures Vminstead of V:’ then,

%error:ﬂ x 100

True value

V -V
or % error = "‘V tx 100
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Fig. 1.4 Elastic deformation due to stylus pressure
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